Eseccias 1

e i Q
" A= :) i 4 B:[O] C:('l O O}
A ® 4

dor (MT-A) = A=3h=2 = Qery(A-2)
Modln 25 400, (Al k. (—0R Al
pld = CT-AY B = 2 4

b 3 Sy
3 A e Q*1>[‘2‘~2)
- . _ 3

22 2ry %1\MP(K)=[%\-2‘K4— % ("4)k—]ﬂ [k-1)

R=(2 Ae A"%}:F 1 tjl

AN

2,

1T % g9yy¢”

it R=0 =2 0 slewe Lo € C,ou_oaé);(’zwat_‘ﬁ
Q%%V‘“YL*& T

o = L{(?) (" ﬁ

1 )"\

5. o[ &}{é? 5 }
CA" 2 4 4xd

~ o ceanle
Mt O = ol =y T ndecen < Cople
= ) ossenvelle Y+

Pen =0 (><”‘*°:w[g ° fl=l_(c«>>

2 4 1 —1

M (/\/"A‘FLC» = )(

o 4 4 2, "4, 4 A
A-les\A © 4 l-| G| o o]=t% o 1




Il, -4 A 3 -
1 — —A /\ -Q‘tz -4 ~%§’L+
4ok 01 A\ _, )\_{.(A ) “’(z 37
‘63—1 -1 )(/_1 _(‘ Q%" Q“-——/\
61 =0 24=4 y
= = 2.
0+ 0,-2,-3 = O ¢,=2 L -
Tl aes 2
O & _
1. /AK: o C4) y HOAC 4 'ﬂ(‘e)., 'tﬂéé)l ﬁt' ﬂ(’(’\
O O _4 Ssle e s halsi@,
2. X(s) = CSI—A}MX(@) +<5I,,L\TB. U6s) UlGs)= 1
- ro)
RH=0 =  xe)=-B=(3)
3. ><2':_:) XL: . _ A
Xa= 2 Xq =70 X= ( O >
—xg\'l—xfx?zO Re=—1 &)
. o O A S B S =
3% |o © A < o ©o &3
-3y, -t ),
X=X

dok (/\1- S\ = /\34' /\Z+ A+

3| A 1

Z 1 E ;2 E\ 5‘\'5% S\ Qﬁv\‘éénha /LSELKL
4 | -2

O 2



NS BN T %.

1.

Gy (sS)
\X/(S\ = G"(BB P($\ So\re P(S)’: £
A+ :‘g@ (s) PCs) A+ CGOG 5)
A—S
Ple)= _St3 (1-s) (5¢2)
- . =
A4 =50 4 S’rlsa4 F
St Sy
1, “-1(s+2)
W(Q: = el T 40[4——33(54.2,)
A+ A 10 (a=5)(s42) P
A S Corst 5+L|3+'%s+£(4s)[se
10 (- (s+2)
3
S AN, (A2 20
‘\'<Ll K)S -(—G( K¥+ oy
40
2. 3 4 +- 2
- B 4
2 4 K % 4-" -§>Q
G-\ a 12\ 22 o, feo
- C KIZ‘QKB”Z 28“4‘3&’“’ 4@ > O
4-"=
Q 20 29 5 0
e =
k> 12
¢ 65 4 \[65Z= 2600
28k 3ok + 100 >O = K> «———ZE——-—;»%,@&
= T sthkwa e Ilut ¥hl e, B K > ©53FVAL25 V14,25
28
. Y
e \ﬂcCS}: Ao (1-2(s+2 R
834 28% L BS 4 4 S

10 (4-9) (5 2)

Rl ;! —/’: (s+ «)(914— s+4)S




V1S o
_ED : 2\/{75 S a?-ks-(—L, =

—_—

St S sS4 L Zéﬂz}i @)L

—_—

—_—

>
S

_A¢ —
= Yo {S— Sﬂftxz@ e © ggh<\lg_t>}"ﬂ(%)

5(4 1+ 45)
Avs) (4 4 & g, 4 2
C 3( ~+ ) S + 225>
—I;uv\k S c\o—(tug g\k—-%ore»aﬁ‘fl-{
2ero reale \ao%\‘-h\,:
’F’EQ ’“‘c‘/L& l/uLSfa)\\\,o
q}v@ Cocv\-»&s&' & *Farl-e realy wda/\&?

@)

4wk =

o b op P




